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3. AABCH[I, ¥ (b+c):(c+a):(a+b)=9:8:7, F

(1)sinA:sinB:sinC =
1 (1)3:4:5 (2)4:3:0
A

. (2)cosA:cosB:cosC =
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7. D, T AABC [T, ZBAC iU 515RAD ik L BC#* D; “I5IBD=3,
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ZB =180°- £ZA—- £C =180°-120°-30° = 30°
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13. AABC I, £A=45°, /C=75°, b=2J6, Fa=

EZal
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14.=11 AABC fl1, sinA:sinB:sinC=4:3:2, ¥ BC=8, 3t *?/[Jﬁl'fﬂji
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(1)ya#E 7 AABC =,s(s—a)(s—b)(s—c) =vOx1x3x5=315 .
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53 +8°+2x3x8c0sC =3 +5°-2x3x5xcosC
= 64 +48cosC =25-30cosC , .. 78cosC=—39:>cosC:—% ;. ZC=120° .
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20. AABC fiu= F,'Jﬁ £52, 3, 4, 7 AABC [V =
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24. ANABC [iU= 25555 4, 6, 8, TR
(1) AABC [T i =
(2) o GF’?a:j‘V‘EUF £,
(3) AABC U9t 5 [y 4 7247,
(4) AABC 1 =[N 4,
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ZS.AABCHI, a=4, b=\/§+1, Cz\/g_]_, jl‘kzﬂjﬁ?&:ﬁgjlf@
(1)(b+c)cosA+(c+a)cosB+(a+b)cosC =

(2)a(b”+c*)cos A+b(c® +a’)cosB+c(a” +b*)cosC =

(1)4+245;(2) 48

1)1z =(bcos A+acosB)+(ccos A+acosC)+(ccosB+bcosC) =c+b+a=4+2J5 .

(2)’Fi=" = ab’ cos A+ac? cos A+ bc? cos B +ba® cos B + ca” cosC + cb? cosC
=[ab? cos A + ba® cos B] +[bc? cos B + cb? cosC] +[ac? cos A+ ca® cosC]
=ab[bcosA+acosB]+bc[ccosB+bcosC]+ac[ccos A+acosC]|

=abc+bca+acbh=3abc=48 .
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